_3
"’/;p
Solving Equations by Factt::pring:_7 -
Solve: x*-10 = 3x -
1. Get one side =0 x: 3% —-10 =0
. Factor completely (x —9){x +2)=0

2
3. Set eachfactor=20 x-5=00R x+2=0
4
5

. Solve each equation x=5 OR x=-2

. Check in original (57 -10=3(5]7?  (-2)"-10=3(-2)7
25-10=15 YES 4-10=-6YES

6. Solution set {5 -2}



EXAMPLE #2: Determine the zerc"’.‘;of the following. ..

\
/;:cz—- 17x+6  X-Tnderets

- — ) |e+y=0
My o > (8 )




Creating a Quadratic Equation given Two Roots (x-int)

EXAMPLE #3:
Create a quadratic equation that has the following roots...
a) -7&4 b) -5/2 & 2/3
. -6 x=%
X= 7 R X= ' 2 X -i-
X120 Rx-¥=p  2x=S 3o
&LW)(X§Y>=0 2x+S< I-2= ()
& KtS) 3x-2)=
X YX*VK-A%_ 0 (L X 23 O
3 o _¢
A~ P=0 6 = Ixt[sx—/0=0

7 T=0
X_ ¢
G) z)(*é_s.x\_/é):o
X%/
I ﬁ): O
6 6



EXAMPLE:
Determine the x-intercepts of the following...

y=x* +4x+1
OZX +L{x+\
a (\)OT‘ R(To@ .’!

é‘”""*\* )~4= 0
JMB-Q
ﬁuwg;_‘h\
Xtz
X2tz

x-j-aﬂrs of K==2—/3
= -0.3 -

— X= \3-7




EXAMPLE #3 - What is happening if the left side is negative?

y=-2(x-5y-4 ¢

Ul >, /I\)
A) S Ny



Quadratic Formula Video

S ]

The quadratic Formula Song!!!
S

Taken from....

http://www.calculus-help.com/funstuff/calculussongs.html
3



SMART Notebook

http://www.calculus-help.com/funstuff/calculussongs.html
http://youtube.com/watch?v=h_7lnt9odzi&search=mathematics

Let's Derive the Formula

(.
Proof: Here is the plan...

- start with the General Form of the quadratic.

- find the x-intercepts by letting y equal zero.

- put equation into Standard Form using the
"complete the square method".

- solve by isolating the variable.

o b

—

l
Z o

y=ax’+bx+c




QUADRATIC FORMULA



http://youtube.com/watch?v=h_7lnt9odzi&search=mathematics

Example #1: Use the quadratic formula to determine
the exact roots of the following quadratic...

O: 3x°+10x -8

e £ J(F10Y —g( -3 ) -8)
2(-3)
a: -
b=1+10 X‘—‘/Oi\)/bo-?é
pu— _8 \G
X:\/O{l!\
6
X=~/o* Q
-k
:‘Igi\ oR )l(:\/()\ﬁ1




Example #2: Use the quadratic formula to determine
the exact roots of the following quadratic...

Nearest (J=12x*-3.8x+23

2N

~(3.8) 1 /(-3.8) —4( 1.2)(*2)
2(12)

10



Homework...

page 48:

#H24
#28 a

#30¢c, e, f

#31a,c

#32d,e, f

#24 @) —Sand 2

A —1243

#28 2)

6 4-16

2

SOLUTIONS...

By L and
2 3

e —124f3

ciland 5

) -2+242

By above x— axis and apening upwards

c) o X — intercepis

430. c)4£+22
e)3+12

iy

1+£4/5

2

#31. a)x=~—-0986 or 2.510

c)
74

V2

—2
.

_ 3
#32.d)>, -2
4

V614

“~

0
H2EN

11



Attachments
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